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1(a) Write 1.24 × 106 as an ordinary number.

[1 mark]

Answer

1(b) Write the number 742,000 in standard form.

[1 mark]

Answer

1(c) Write 6.3 × 10−7 as an ordinary number.

[1 mark]

Answer

Turn over ►
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2(a) Write 9.9 × 10−4 as an ordinary number.

[1 mark]

Answer

2(b) Write the number 0.068 in standard form.

[1 mark]

Answer

2(c) Work out the value of (6 × 103) × (9 × 104).

Give your answer in standard form.

[2 marks]

Answer

Turn over for next question

Turn over ►
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3(a) Write 5 × 101 as an ordinary number.

[1 mark]

Answer

3(b) Write the number 2.7027 × 10−2 as an ordinary number.

[1 mark]

Answer

3(c) Work out the value of (4 × 106) ÷ (2 × 104).

Give your answer as an ordinary number.

[2 marks]

Answer

Turn over for next question

Turn over ►

4
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4(a) Write 4.7 × 105 as an ordinary number in words.

[1 mark]

Answer

4(b) Write the following numbers as ordinary numbers in ascending order.

Forty six 7.2 × 102 6,311 4.66 × 105 0.87 3.3 × 10−4

[3 marks]

Answer

Turn over for next question

Turn over ►

4
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5 Jake noted that speed of light is approximately 1.1 × 109 km/h;

the speed of sound is approximately 1.2 × 103 km/h and

11 ÷ 12 = 0.91 ሶ6.

Using Jake’s figures, calculate how many times faster light is than sound.

Write your answer in standard form to 3 significant figures.

[3 marks]

Answer

Turn over for next question

Turn over ►

3
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6
𝑘 =

𝑎𝑏

𝑏 − 𝑐

𝑎 = 2 × 104

𝑏 = 6 × 106

𝑐 = 1 × 105

Find the value of 𝑘.

Give your answer in standard form correct to 2 significant figures.

Hint: 12 ÷ 59 ≈ 0.20

[5 marks]

Answer

End of Questions

END

5
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